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[1] (%) ( ) A stock is currently worth $60. If you purchased

the stock exactly one year ago for $50 and received a $2 dividend over
the course of the year, what is your holding period return? (A) -24% (B)

24% (C) 10% (D) -10%
[2] (15%) Consider a portfolio of three assets: A, B, C, where the related

information are shown in the following table:

[tem Asset A Asset B Asset C
Investment value $600 $900 $1500
Expected return 10% 12% 16%

variance 0.0016 0.0036 0.0100
Correlation Matrix
Asset A Asset B Asset C
Asset A 1. 00 0.46 0.22
Asset B 0. 46 1.00 0. 64
Asset C 0.22 0.64 1. 00
1. ( )The expected return of the portfolio is (A)13.6% (B)12. 66%
(C)14. 5%
11. ( )The covariance between asset A and asset B is (A) 0.00088

(B)0. 001104 (C)0.00384
111. ( ) The variance of the portfolio return i1s (A)0. 005230

(B)0. 004348 (C)0. 003515
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[3] (10%) 1B 2% RiE > 3) 8P ig ) AL Z e3R8 5 BL F 5 Bodo F A PAT

B KR 2 & 2
0.1 -10% -35% |
0.2 2% 0%
0 4 12% 20%
0.2 20% 25%
| 0.1 28% 15%

FERAITEUNG B LU AT RRENER  FRCREZFTERT ?
[4] (10%) sAM e mEiBE 24 AR 2 A4Rm-F398 % 3% RE£E 20% B

EAHEIEEZ 9% B E M AT ?
[5] (209) ¥ABRBEREZ R L ETFERZIEABRSIER BB ERZEA
B B ETI REFERZANRERERS HEEERGYBRANL T4
%%%F§§!6.82 3.35 4.60 6.32 5.84 5.66 4.76 5.55 6.20 7.42 6. 40
R ¥ @11 4.81 3.68 5.20 4.65 5.89 3.74 4.88 5.68 5.26
C4ofi 22 A2 RSB EBEKXEa=10%8%F:
(1) e g BB FEE? (2) WEREHFHRFNZFTIE?
(3) MRFHmA£e9 90%ZHBEM?
Hint: 4 A« B 95 k& BT AL R,

Xa=5.72> 87 =1.3> X5=4.79+ =058

[6] (15%) £XERH T #KkEGoREHZAEXHEWES Yy MeyB1as
BEEATHS&TER

n=15,x=10.8,y=122.7,SSX = 70.6,SSY = 98.5, SSXY = 68.3 » {535 & — & i¢

MGA > BAEFERSET -
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OEECT ESET TR0

(B LEH AT TURA G- B x(x EFREER) > BIEE

B EEN A 0,67
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7] Q04 A Bz EHeH ¥ 8V B X~N(5525  ¥Y~N(3516)

% P[X+Y>80]=7 P[X+V<95]="

18] (15%) A-BAR44T ZRFHPILEA P FMHEAYEF R T R

WA AR
A 4847 350 273
B 4R4T 450 378
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P(U<Z<z)=a

= 00 04 .02 03 .04 .05 .06 .07 .08 .09
U0 00000 00040 0.0080 0.0120 0.0160 0.0199 00239 00279 0.0319 0.0359
0] 00398 00438 0.0478 00517 0.0557 0.0596 0.0636 0.0675 0.0714  0.0753
0.2 0.0793 00832 0.087) 00910 00948 0.0987 0.1026 0.1064 03105 0.114]
03 01379 01217 01255 01295 0.1331 0.0368 0.1406 0.1443  0.1480 0.1517
0.4 04554 0.159) 0628 0J664 0.J700 0.1736 0.1772 0.1808 0. 844 0.1879
05 01915 0.1950 0.985 02019 02054 02088 02123 02157 02190 0.2224

0.6 02257 0229) 02324 02357 02389 02422 02454 02486 02517 0.2549
0.7 02580 02611 02642 02673 02704 02734 02764 02794 0.2823  0.2852
0.8 0288) 02910 02939 02967 02995 03023 03051 03078 03106 0.3133
49 03159 03186 03212 03238 03264 03289 03315 03340 03365 0.3389
1.0 03413 03438 03461 03485 03508 0.353) 03554 03577 0.3599 0362}

L] 03643 03665 03686 03708 03729 03749 03770 03790 03810 0.3830
12 03849 03869 03888 03907 03925 03944 03962 03980 03997 0.4015
1.3 04032 04040 04066 0.4082 04099 04115 0413) 04147 04162 0.4)77
14 04192 (4207 04222 04236 0425) 04265 04279 04292 04306 043 19
1.5 04332 04345 04357 04370 04382 04394 04406 04418 04429 04441

1.6 04452 04463 04474 04484 04495 04505 0.4515 0.4525 0.4535  0.4545 .
L7 04554 04564 04573 04582 04591 0.4599 04608 04616 0.4625 0.4633
L8 0464) 04649 04656 04664 04671 04678 04686 0.4693 0.4699 0.4706
19 04713 04719 04726 04752 04738 04744 04750 04756 0.476)  0.4767
20 04772 04778 04783 04788 04793 04798 04805 04808 04812 0.4817

2] 0.482) 04826 0.4830 04834 04838 0.4842 0.4346 0.4850 0.4854  (.4857
22 0486) 0.4864 04868 04871 04875 04878 04881 0.4884 0.4887  0.4890
2.3 0.4893 04896 04898 04901 04904 04906 0.4909 0.491) 04913 04916
24 04918 04920 04922 04925 0.4927 0.4929 0.493) 0.4932 04934  0.4936
2.5 0.4938 04940 0.494) 04943 04945 0.4946 0.4948 0.4949 0.495) 04952

26 04953 04955 04956 04957 04959 0.4960 0.496) 0.4962 0.4963  0.4964
27 04965 04966 04967 0.4968 04969 04970 0.497) 04972 0.4973 0.4974
28 04974 04975 04976 04977 04977 0.4978 04979 04979 0.4980 0.4981
29 0.498) 04982 04982 04983 04984 0.4984 0.4985 0.4985 0.4986 0.4986
3.0 04987 0.4987 04987 04988 0.4985 0.4989 0.4989 0.4989 0.4990 0.4990
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